ITEC451

Quiz 1

Name: 

1. Find the inverse of the matrix 
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2. Use the Gauss-Jordan method to find the inverse of the matrix 
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3. During any given year, 20% of cable communication users become satellite communication users and 10% of satellite communication users become cable communication users (all other people use the same communication service). Let Ct be the number of cable communication users at the beginning of year t, and St be the number of satellite communication users at the beginning of year t. User matrix multiplication to related the vector 
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4. Find the determinant of the matrix A = 
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